Progress Probe #1660424: 6th Grade Science TCAP Blitz March 4-March 8 Week 2 (Grade 06 SC)
	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	C  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	U55472

	2
	D  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.2 Matter & Energy in Ecosystems [99083]
	D82206

	3
	D  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.3 Biotic / Abiotic [99084]
	D86827

	4
	D  
	Hard  
	LS: Interdependence  
	SPI 0607.2.3 Biotic / Abiotic [99084]
	D84687

	5
	B  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D58618

	6
	C  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.2 Matter & Energy in Ecosystems [99083]
	D87579

	7
	D  
	Hard  
	LS: Interdependence  
	SPI 0607.2.2 Matter & Energy in Ecosystems [99083]
	D81749

	8
	B  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D87569

	9
	C  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D52407

	10
	A  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D83771

	11
	C  
	Hard  
	LS: Interdependence  
	SPI 0607.2.3 Biotic / Abiotic [99084]
	D84686
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6th Grade Science TCAP Blitz March 5-March 9 Week 2
	Question 1 of 11

	What kind of organism adds nutrients to the soil by breaking down dead organisms? 
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	A.
	consumer 
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	B.
	producer 
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	C.
	decomposer 
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	D.
	predator 

	 


	Question 2 of 11

	What is the difference between a community and a population?
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	A.
	A community is the place in which an organism lives, while a population is all the different organisms that live together in an area.
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	B.
	A community is each kind of living thing in a group, while a population is all the different groups that live together.
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	C.
	A community is the place that provides food, shelter and other resources needed to survive, while the population is the group that lives in the community.
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	D.
	A community is all the different organisms that live together in an area, while a population is a group of organisms of the same type, living together in the same community.

	 


	Question 3 of 11

	Which choice is an example of the relationship between an abiotic factor and a biotic factor?
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	A.
	a rainstorm after a period of drought
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	B.
	bacteria infecting an organism
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	C.
	water on the pH of garden soil
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	D.
	the sun shining on an orange tree

	 


	Question 4 of 11

	Which of the following statements correctly describes examples of abiotic and biotic factors, and how they interact in an ecosystem?
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	A.
	Abiotic factors such as bacteria and mold cause disease in the biotic factors of an ecosystem.

	[image: image14.wmf]  
	B.
	Biotic factors such as parasites and predators cause disease in the abiotic factors in an ecosystem.
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	C.
	Biotic factors such as soil and rocks allow for the growth of abiotic factors in an ecosystem.
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	D.
	Abiotic factors such as temperature, and sunlight affect the growth of biotic factors in an ecosystem.

	 


	Question 5 of 11

	In the food web shown below, the rabbit is the primary food source for snakes, owls, and cats. If the rabbit population is infected with a disease that causes them to die off, what will happen to the populations of snakes, owls, and cats? 
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	A.
	They will remain unchanged due to the decrease in rabbits.
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	B.
	They will decrease because their main food source decreaed.
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	C.
	They will increase because their food source decreased.
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	D.
	They will increase because their main food source decreased.

	 


	Question 6 of 11

	A food chain shows how the consumers in an ecosystem are connected to one another according to what they eat. A ______ is a consumer that uses some of a dead organism as food; the rest becomes part of the soil and helps the ____________ grow.
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	A.
	producer; decomposer
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	B.
	omnivore; carnivore
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	C.
	decomposer; producer
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	D.
	carnivore; herbivore

	 


	Question 7 of 11

	An organism that survives by eating both animals and plants is called ___________.
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	A.
	a predator

	[image: image27.wmf]  
	B.
	a herbivore
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	C.
	a carnivore
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	D.
	an omnivore

	 


	Question 8 of 11

	Organisms can be categorized by the function they serve in an ecosystem. Which of the following is not considered a producer?
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	A.
	plant
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	B.
	human being
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	C.
	algae
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	D.
	bacteria

	 


	Question 9 of 11

	In a good year, many seeds are produced that prairie dogs can feed on. As the prairie dog population increases, what will happen to the population of badgers shown in the food web below? 
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	A.
	The badger population will decrease.
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	B.
	The badger population will eat seeds.
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	C.
	The badger population will increase.
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	D.
	The badger population will remain the same.

	 


	Question 10 of 11

	Use the food chain below to answer the question.
[image: image39.png]%%~%~~





	 

	Which organism can replace the organism shown in the circle? 
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	A.
	tiger
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	B.
	rabbit
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	C.
	grass
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	D.
	snake

	 


	Question 11 of 11

	The diagram below shows water moving through an ecosystem. Of the four different parts of the water cycle listed below, select the choice that needs a biotic factor. 
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	A.
	When water leaves the ecosystem by evaporation a biotic factor is needed.
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	B.
	When water enters the ecosystem by precipitation a biotic factor is needed.
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	C.
	When roots absorb groundwater a biotic factor is needed.
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	D.
	When water is stored as groundwater a biotic factor is needed.
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